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Vocabulaire

A. Utilisez les double négations << ...ne...ni...ni >>

ou << ...ni...ni...ne >>,

Exemple: Cette éléve ne lit pas de brouillon, elle ne lit
pas de corrigé.

—  Cette éléve ne lit ni brouillon ni corrigé.
1. Le professeur n’aime pas les retardataires, il n’aime
pas les paresseux.
2. 11 ne sait pas expliquer, il ne sait pas discuter.
3. Paul n’est pas timide, Marie n’est pas timide.

B. Soulignez les intrus :

Exemple : cotter acheter louer _aller
demander

1. marcher oranger regarder manger
préparer

2. ordinateur chercheur ventilateur
réfrigérateur générateur

3. fievre  tuberculose grippe stéthoscope
rougeole

4. Brunei Rangoon Vientiane
Jakarta Manille

5. Suisse France Hollande
Belgique Cambodge

Il. Grammaire

A . Complétez les phrases par : << C’est pourquoi >>,

<< donc >> , << aussi >>.

Exemple: Le pneu de son vélo est creve, .................
faut-il le réparer.

- Le pneu de son vélo est crevé aussi faut-il le
réparer.
1.1l atrop travaillé ............... il est malade.

2. La route n’est pas bonne, ............ faut-il conduire
prudemment.

3. Elle est sérieuse, elle réussira a

I’examen.

B. Réécrivez ces phrases en remplagant les mots

soulignés par les pronoms << le, la, y, en >>,

Exemple: Elle veut du thé.

— Elle en veut.
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1. Je ne regarde pas la télévision.

2. Mon pére voudrait un café.

3. Mon amie adore le football.

4. Le cuisinier va au supermarché.
5. Narith boit du lait.

Expression écrite.

Vous apprenez le frangais depuis le niveau collégien.
D’prés vous, quels sont les avantages de 1’apprentis-
sage de la langue frangaise. Ecrivez un texte de 100 a
120 mots.

AIRITIBSITING
Vocabulaire

A.

1. Le professeur n’aime ni retardataires ni paresseux.
OU: Le professeur n’aime ni les retardataires ni les
paresseux.

2. 1l ne sait ni expliquer ni discuter.

3. Ni Paul ni Marie ne sont timides.

B.

1. oranger

2. chercheur
3. stéthoscope
4. Brunei

5. Cambodge

. Grammaire

A.

1. C’est pourquoi
2. aussi

3. donc

B..

1. la
2.en/en...un
3.0

4.y
5.en

Expression écrite

Respect de la consigne
Vocabulaire et orthographe
Grammaire

Richesse des idées
Coéhérence
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SRR TRB{HS BB EBARG RS HES 4. Tf we Keep ......o.vvn.. like this, we should be done
© before the deadline.

FSBBEBRO: 9M FRI ®o09¢ a- working b- worked

SOREN: MARHSIFES (FHORNEN|EY) ¢~ to work CWPHE, .
= A 5. The benefits programme ........... in the next few

5885:60358: 90 B N &O months.
. a-had changed b- were changed

E5R

l. Reading.

Read the text and fill the gaps with the words in the box.
Gap one has been done as an example.

Timetables  help information taught
Afterwards memories  heart waste
Look (1)subject result understanding

Learning How to learn

There is usually one important (1) subject missing from
most school (2) ........ . Very few students are (3)
how to organize their learning, and how to
make the best use of their time. Let’s take some simple
examples. Do you know how to (4) ........... up words in a
dictionary, and do you understand all the (5) ..............
the dictionary contains? Can you make notes quickly, and

can you understand them (6) .............. ? For some rea-
sons, many schools give learners no (7) ............... with
these matters. Teachers ask students to (8)

....................... pages from books, or tell them to write
ten pages, but don’t explain how to do it. Learning by (9)
....................... can be useful, but it is more important
to have a genuine (10) .............. of a subject. You can
(11) a lot of time memorizing books,
without understanding anything about the subject.

Il. Grammar.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a,b, c,or d.

Example: Yesterday she ....................... to Siem Reap.
a- go b- is going
c- goes d- went

L.We . ooooiiiiiiine, with the prime minister for dinner at

the Sunway Hotel tonight.

a-will be met b- have been met

c- were met d- are meeting
2. Mr. Sambath .............. his vacation after the project is
completed.

a-will take b- took

c- has taken d- taking
3. Ms. Chantha .............. for the day when the phone
call came.

b- already leaves
d- had already left

a- has already left
c- already left

43

c- will be changed d- changed

lll. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.

Example: When I was twelve, my father taught me how to

....................... chess.

b- play

d- collect

1. At the age of 60, Mr. Vuth retired and lived off his
a-salary
c- grant

b- allowance
d- pension

2. Please confirm your reservation in ....................... .

a-letter b- writing

c- words d- paper
3. Everybody knew Samnang had ............... a crime but
nobody wanted to tell the police.

a-committed b- done

c- made d- performed
4;, The TeSCArChers, . o uu« sms van s asa o many experiments to

find the most effective materials.
a-considered b- confirmed

c- concerned d- conducted
<7 | on the news that the price of gas is going up
again.

a-looked b- listened

c- heard d- watched
IV. Writing.

Write an essay “The value of Higher Education” at least
180 words. o ,
FINRN NTIHOIHRS

l. Reading.
1. subject 2. timetable 3. taught
4. look 5. information 6. afterwards
7. help 8. memories 9. heart
10. understanding 11. waste
Il. Grammar.
I-d 2-a 3-d 4-a 5-¢
lll. Vocabulary.
I-d 2-b 3-a 4-d 5-a
IV. Writing.
1. Content
2. Spelling
3. Grammar
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